Please complete the following reactions by 1) predicting the products, 2) identifying the tvpe of reaction,
3) balancing the equation and 4) finishing the word-equations.

m 1) hydrogen bumed in oxygen
2H, + 0, —2H,0
0 2) octane, CgHys, is burned in oxygen
1WgHe + 1%, — lbco, +BH,0
SR 3) potassium metal added to cold water
2K +24,0 — 2K OH+
4) potassium iodide added to lzad(11) nitrate
LKL + Pb(nN0y), — 2KNQs o) ¥ PbL, ©
O 5) barium hydroxide (heated)
% @ sodium sulfite combined with acetic acid DeComposes
NG,S0; + 2HC,H0, — 2Na( H,0, + @
o 7) acetelyne. C:Ha. is bumned n oxyzen ADOV
2C,H, + 50, — 4C0, +2HO
mm. 8) zinc metal added 10 mercury(11) nitrate
Zn + Hg(Nos), —
W 9) hydrogen gas + nitrogen gas
O 10) lithium chlorate (heated) :
2LiCloy; — 2ucl +30,
,W L1) sulfur burned (complete combustion) n.m.w
28 +30, — 280z $0:8+0%
% Hw sodium chleride added to sulfuric acid *
INacCl + H,50,
WN 13) aluminum in hydrochloric acid
2R ¢ bHO — 2AICI; + 3H,
O 14) ethyl aleohol, CHO. is burned inoxygen
GH,0 + 30, — 2(0, +3HO0
1 -ux barium nitrate added to sodium oxalate
Ba (204 TNZDﬂZDw (as)

Ba(NOs), ?.o+ Na, nNO#\u«oré* commaen oxidahin State of Fe ?
mp _mw iron filings added to copper(11) sulfate in solution used ﬂﬂ_ﬁ...

Fe + (usSQhy — FeSoy + Cuy

O 17) sodium carbonate (heated)

ZQNno,w — Na,0 * o,

"y

Zn ﬁzom.vh 4 J.mw

— NG,504 r2Mc|

&
C Eo.u _,MHW

(ag)

@ome

(2
w % mwmu lurninum acetate added to calcium hydroxide

wo.._....w.__._u in water ?

D 18) electrolysis of aluminum oxide

LALO; —4Al 430,

% #w sodium bicarbonate added 1o hydrochloric acid o—hgqvomnh
NaHCO; + HCl —y  NaC) +®§v H,0 + €O,
% 20) ealcium oxide added to water _npﬂv G anacds ag

Ca0 + H0 — Ca(oH),
wx 21) silvermetal added to copper{1l) sulfate

Ag + CuSy —> NR
propane, CsHy. is burned in oxyzen
CMp +50, — 3Co, + 4H,0
%mw,_ chlorine gas bubbled through a solution of calcium bromide
c, + CaBr, — Call, + Br,

O u.% sulfuric acid heated gently

ENWO+ -3 INO?.V* MO,W

22

AL ((H30,); +  (u(0H), —2 P;cm.uu?uf npﬂmuzwo@p

Show the total fonic and net ionic forms of the following equations. If all species are spectator ions,
please indicate that no reaction takes place.

1) Mg(NOs), (aq) + Na,COs(aq) — MgCOs (s) ._.NZmZOw (aq)

Mg'*w4) + (0s*Togy = MGCOs (9
2) strontium bromide(aq) + potassium sulfate (ag) — strontium sulfate (s) + potassium cmawn_ﬂank 26 Q
- (L SrBry ¥k S04 SrSly
Sri?(ay) + SO4*Tagy = SrS0s (s) *

3) chromium(lII) nitrate(aq) +iron(II) sulfate(aq) — chromium(IIl) sulfate(aq) + iron( I} nitrate (aq)

Cr(No3), +FeSOy — NR ==
Please complete the following reactions, and show the total ionic and net ionic forms of the equation:

4) KaPOs aq) + AINO: @) > 3KNO3 (ag) + AL PO4 (s)

Al"(o) ¥ POY"ay) — AIPG (9)
T CTSOTED = 36604 + n:H:C

Bel;, + Cu,;804 — ?w_ﬁ

o) cebali(!l]) bromide = potassium sulfide =

2CoBr3 r o 3Ks —>
2 Co*ag) + 35 a) ) (0,55 (s)
ari o MO phosphae——
38a(N0); +2(nHu)sPoy — Bag(PO4), () + bNHy NOg (o)
38at*cea) F 2P043(0p) 9 Bag (PDu)2 (9)
&) rubidium fluoride +  copper(il) sulfate —
. RbF + cCusoy 2 QRb,%04 + (uF,
(%) (o)
N——_————
NR




